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using Microsoft.VisualStudio.TestTools.UnitTesting;
using TestCommon;

namespace A4.Tests

{

[DeploymentItem("TestData")]
[TestClass ()]
public class GradedTests

{

[TestMethod (), Timeout (200)]
public void SolveTest_Q1ChangingMoney ()

{
RunTest (new Q1ChangingMoney("TD1"));
}

[TestMethod (), Timeout (200)]
public void SolveTest_Q2Maximizingloot ()

{
RunTest (new Q2Maximizingloot("TD2"));

}

[TestMethod (), Timeout(200)]
public void SolveTest_Q3MaximizingOnlineAdRevenue ()

{
RunTest (new Q3MaximizingOnlineAdRevenue("TD3"));

}

[TestMethod (), Timeout (200) ]
public void SolveTest_Q4CollectingSignatures()

{
RunTest (new Q4CollectingSignatures("TD4"));

}

[TestMethod (), Timeout (500)]
public void SolveTest_Q5MaximizeNumberOfPrizePlaces()

{
RunTest (new Q5MaximizeNumberOfPrizePlaces("TD5"));

3

[TestMethod (), Timeout (200) ]
public void SolveTest_Q6MaximizeSalary()

{
RunTest (new Q6MaximizeSalary("TD6"));

3
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[TestMethod (), Timeout (2000)]
public void SolveTest_Q7MaxSubarraySum()

{

}

RunTest (new Q7MaxSubarraySum("TD7"));

public static void RunTest(Processor p)

{

TestTools.RunLocalTest("A4", p.Process, p.TestDataName, p.Verifier, VerifyResultWit
excludedTestCases: p.ExcludedTestCases);
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Money Change
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using System;

using System.Collections.Generic;
using System.Text;

using TestCommon;

namespace A4

{

public class QiChangingMoney : Processor

{
public QiChangingMoney(string testDataName) : base(testDataName)

{3

public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long>) Solve);

public virtual long Solve(long money)

{

throw new NotImplementedException();

}
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using TestCommon;

namespace A4

{
public class Q2MaximizinglLoot : Processor
{
public Q2MaximizingLoot(string testDataName) : base(testDataName)
{3
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[], long[], long>) Solve);
public virtual long Solve(long capacity, long[] weights, long[] values)
{
throw new NotImplementedException();
}
public override Action<string, string> Verifier { get; set; } =
TestTools.ApproximatelLongVerifier;
}
3
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using TestCommon;

namespace A4

{
public class Q3MaximizingOnlineAdRevenue : Processor
{
public Q3MaximizingOnlineAdRevenue(string testDataName) : base(testDataName)
{3
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[], long[], long>) Solve);
public virtual long Solve(long slotCount, long[] adRevenue, long[] averageDailyClick)
{
throw new NotImplementedException();
}
3
}
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using TestCommon;

namespace A4

{
public class Q4CollectingSignatures : Processor
{
public Q4CollectingSignatures(string testDataName) : base(testDataName)
{3
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[], long[], long>) Solve);
public virtual long Solve(long tenantCount, long[] startTimes, long[] endTimes)
{
throw new NotImplementedException();
}
}
}
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using TestCommon;

namespace A4

{
public class Q5MaximizeNumberOfPrizePlaces : Processor
{
public Q5MaximizeNumberOfPrizePlaces(string testDataName) : base(testDataName)
{3
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[]>) Solve);
public virtual long[] Solve(long n)
{
throw new NotImplementedException();
}
3
}
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LARGESTNUMBER (Digits) :
answer <— empty string
while Digits is not empty:
maxDigit + —oo
for digit in Digits:
if digit > maxDigit:
maxDigit + digit
append maxDigit to answer
remove maxDigit from Digits
return answer
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using System;

using System.Collections;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using TestCommon;

namespace A4



public class Q6MaximizeSalary : Processor

{
public Q6MaximizeSalary(string testDataName) : base(testDataName)
{3
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[], string>) Solve);
public virtual string Solve(long n, long[] numbers)
{
throw new NotImplementedException();
}
}
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using System;

using System.Collections;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using TestCommon;

namespace A4

{
public class Q7MaxSubarraySum : Processor
{
public Q7MaxSubarraySum(string testDataName) : base(testDataName)
{3}
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[], long>)Solve);
public virtual long Solve(long n, long[] numbers)
{
throw new NotImplementedException();
}
}
}
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